Lets begin with one of the 181 units and figure out how much time
this would be.

24 hours times 60= 1440 minutes divide by 1891 units = 7.9558011 minutes

9imilion miles the Earth is from the Sun, divide by 7.955801lar
477.348066 seconds = 194,826.3689 miles per second
is the speed of light.

Now this is a blg difference of B8826.369 miles per second.

The next part ko explain, vill not agree with What has' bean written
or lectured on by Antiguigt or Anthropologist, but this too hasg been
omitted from traditonal stories told to ressarchers.

The subject is the Planet VENUS, which is called by a Tribal Clan
Hame by American Indians and we do not bow down and worship this Planet
as some kind of Deity.

But in our sciences bkecause this Planet rotates differenctly than
the others in our Solar System, it causes the impulses or strands of
Time to undergo a dimensional change, which does have a theorum on
fixed velocity.

To have a conclusion to this fixed velocity, legends state that
anything that comes inte contact of this dimensional change, undergoes
an aging process.

TIME DIMENSIONAL CHANGE is the aging process of an opposing force
that can only be overcomed, by the synchronizing of human rituals handed
down from the CREATOR, GREAT SFIRIT.

What kind of thecrum.dcoes this TIME DIMENSIONAL CHANGE or AGING
PROCESS have on kthe speed of 1light?

It starts at a quentunr speed of 1.020BE63]1 seconds after leaving
VENDS and arciving on Earth.

The fixed velocity can now be calculated to find its influence on the
speed of light.

93million miles(radius) times 2.= 186million miles{Diameter) times

pi = 584,335,740 miles{circumference of Earth Orbit).

584,335,740 miles divide by time for one complete orbit{365.242198)
= 18.5168778 miles per second the Earth is traveling in Orbit.

477.348066 seconds it takes the light of the Sun to appear to
the human eye, TIMES 1E.5168778 m.p.s. the Earth is traveling
in Orbit = BB838.99581 miles.

104,826,382 -8838.9956% = 185,987.393 miles per second is the
Speed of Light.

Lets begin with one of the units and figure out how much time



this would be.

24 hours times 60= 1440 minutes divide by units fr 7.9558011 minutes
93miliOn miles the Earth is from the Sun, divide by 7.95580110147/'7.348066 seconds = 194,826.38(@ miles per Second
is the speed of light.

Now this is a big difference of 8826.389 miles per second.

The next part to explain, will not agree with what has' been written

or lectured on by Antiquist or Anthropologist, but this too has been

omitted from traditonal stories told to researchers.

The subject is the Planet VENUS, which is Called by a Tribal Clan

Name by American Indians and we do not bow down and worship this Planet
as some kind of Deity. '

But in our sciences because this Planet rotates differenctly than

the others in our Solar System, it Causes the impulses or strands of

Time to undergo a dimensional change, which does have a theorum on

fixed velocity.

To have a conclusion to this fixed velocity, legends state that

anything that comes into Contact of this dimensional change, undergoes

an aging process.

TIME DIMENSION]-XL CHANGE is the aging process of an opposing force
that can only be overcomed, by the synchronizing of human rituals handed
OOWI1 frO1°n the CREATOR, GREAT SPIRIT.

What kind of theorum _.does this TIME DIMENSIONAL CHANGE or AGIING PROCESS have on the speed of
iight?

It Starts at a quantum speed of 1.0208831 Seconds after leaving
VENUS and arriving on Earth.

The fixed velocity can new be calculated to find its influence on the
speed of light. «

93million miles(radius) times 2.,: 1B6million miles(Diameter) times
pi= 584,335,740 mileS(C:ircumference of Earth Orbit) .

584,335,740 miles divide by time for one complete orbit(365.24219B) = 18.51687'/B miles per second the Earth is traveling in
Orbit.

477.3453066 seconds it takes the light of the Sun to appear to
the human eye, TIMES 18.516877B m.p.s. the Earth is traveling in Orbit = 8838.€-39581 miles.
194,826.389 -B838.99581 = 185,987.393 miles per second is the Speed of Light.



